In the “Ballistic Pendulum” expernment (shown in the figure below), which ol the following is the cormrect relation batween the intial speed (vo) of the
ball ond the maxmum height (h) of the pendulum after collision
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A spang of a spring gun, having constant k = 825 N/m, is compressed horizontally a distance x = 0.056 m from its relaxed state. A boll of mass m = 0.02
kg is putin the barrel. Once the gun is fired (l.e. the spring returns to its relaxed state), the speed (in m/s) with which the ball will leave the barrel i

Ball

‘Scanned with CamScanner



\i-wx UQZ-. %’\Q X

Ve et
AN
\i - &69—6*’(005)2-
O 0.

[\l 8- 8l w\ls"j



